SH6eE 2A AWER—=E

=HES] AfLH =44 R EALEE k=
1212 R6.2.8 |[[EREEEREEEREZIIENR 15K 1,596,760([t AT F—
1213 R6.2.8 [FRZFBRALZIL VMK 1408 6,637,400[!) 23— v/ 69
1214 R6.28 |[rLyrR—/— 1K 1,018,204|FA<{EEH
1215 R6.2.8 |[EZEH#E 1X 1,028,500(60/ 8\ F S5 K024
1216 R6.28 |!NERHRBESBE-HFEE 1R 863,500| 1 7 1 EEEH)
1217 R6.2.15 [ alLwyd— 2& 693,000|lX v AEFEE
1218 R6.2.15 [API/NMNERRAF—ILRKE 1K 978,120|@)iiFEE R B Bk 5%
1254 R6.28 |KEMERESEMTEHES SKSERL 1K 902,000 | 5 8 [if5 5 (#)
1305 R6.2.22 |mfiAE 1xK 929,500l < RHh—Y
1306 R6.2.22 |ZEHFHAAF—ILFTE 1K 624,800((H)KFF—2JILA T4 R
1307 R6.2.22 |fRE=E{mm 13K 888,800 LA EIEER
1308 R6.2.22 [RA4VA&G 1R 858,000/K FBIE T XM
1410 R6.2.29 [KEMZEREFMIATLEERE 1X 134,970|#)RJECC




